
 

 APPOLO STUDY CENTRE 
STATISTICS 

 
Diagrammatic Representation 

tpsf;fg;glq;fs; 
 

1. Represent the following data by a simple bar diagram. 
fPo;f;fz;l tptuq;fis vspa gl;il tpsf;fg;glj;jpd; Fwpf;fTk; 

 

Year / tUlk;  1991 1992 1993 1994 1995 

Production (in tones) 
/ cw;gj;jp (ld;fspy;) 

45 40 42 55 50 

 
2. Represent the following date by a simple bar diagram 

gpd;tUk; tptuq;fSf;F vspa gl;il tpsf;fg;glk; tiuf 
 

Year /  Mz;L Production / 
cw;gj;jp 

2005 40 

2006 45 

2007 50 

2008 30 

2009 20 

 
3. Draw a multiple bar diagram for the following data 

fPo;f;fz;l tptuq;fSf;F gy; mq;fg;gl;il tpsf;fg;glk; tiuf 
 

Year / 
Mz;L 
 

Profit before tax 
(in lakhs) 

thptpjpg;gpw;F Ke;ija 
,yhgk; (,yl;rq;fspy;) 

Profit after tax 
(in lakhs) 

thp tpjpg;gpw;F gpd; 
,yhgk; (yl;rq;fspy;) 

1998 
 

1999 
 

2000 
 

2001 

195 
 

200 
 

165 
 

140 

80 
 

87 
 

45 
 

32 
 

4. Represent the following data by a multiple bar diagram 
fPo;f;fz;l tptuq;fSf;F gy; mq;fg;gl;il tpsf;fg;glk; tiuf 

 
Year 
Mz;L 

Sales 
tpw;gid 

Profit 
yhgk; 

2003 120 40 

2004 135 45 

2005 140 50 

2006 150 60 



 

 
5. Represent the following data by a sub – divided bar diagram. 

fPo;f;fz;l tptuq;fSf;F $W gl;il tpsf;fg;glk; tiuf 
 

Expenditure items / 
nrytpdq;fs; 

 

Monthly Expenditure (in Rs) 
khjr;nryT (&ghapy;) 

Family A 
FLk;gk; A 

Family B 
FLk;gk; B 

Food / czT 750 950 

Clothing / cil 160 230 

Education / fy;tp 80 110 

Housing Rent / tPl;L thlif 400 650 

Miscellaneous / ,ju nryTfs; 210 260 

 
6. Construct a subdivided bar diagram from a following data 

nfhLf;fg;gl;Ls;s tptuq;fSf;F cl;gphpT gl;il tpsf;fg;glk; tiuf 
 
 
 
 
 
 
 
 

 
 

 
 
 
 

7. Represent the following data by a percentage bar diagram. 
fPNo nfhLf;fg;gl;l tptuq;fis rjtPjg; gl;il tpsf;fg;glj;jpy; Fwpf;fTk; 
 

Particular / ,dq;fs; Factory X / 
epWtdk; X 

Factory Y / epWtdk; Y 

Selling price  
tpw;w tpiy 

400 650 

Quantity sold  
tpw;fg;gl;l msT 

240 365 

Wages / Cjpa msT 3500 5000 

Materials / nghUl;fs; 2100 3500 

Miscellaneous  
,ju nrytpdq;fs; 

1400 2100 

 

8. Represent the following data by a percentage bar diagram 
gpd;tUk; tptuq;fSf;F rjtPj gl;il tpsf;fg;glk; tiuf 
 

Particulars / ,dq;fs; 2018 2019 

Raw material / %yg; 
nghUl;fs; 

2600 2700 

Labour /$yp 700 800 

 College 
fy;Y}hp 

Subjects 
ghlq;fs; 

A B 

Art 
fiy 

400 550 

Science 
mwptpay; 

800 500 

Commerce 
tzpftpay; 

600 300 

Agriculture 
Ntshz;ik 

400 450 



 

Direct Expenses / Neub 
nryTfs; 

200 300 

Factory Expenses / 
njhopw;rhiy nryTfs; 

300 300 

Office Expenses / 
mYtyf nryTfs; 

200 250 

 
9. Draw a pie diagram for the following data of production of sugar in quintals of various 

countries. 
fPNo nfhLf;fg;gl;l gy;NtW ehLfspd; rh;f;fiu cw;gj;jp tptuq;fSf;F tl;l tpsf;fg;glk; 
tiuf 

 
Country / ehLfs; Production of sugar (in quintals) 

rh;f;fiu cw;gj;jp (Ftpd;lhy;fs;) 
Cuba / fpa+gh 62 

Australia / M];jpNuypah 47 

India / ,e;jpah  35 

Japan / [g;ghd; 16 

Egypt / vfpg;J 6 

 
10. Draw a pie diagram of the following data relating to areas under different food crops 

gFjpfSld; njhlh;Gila czTg;gaph;fs; tptuq;fSf;F tl;l tpsf;fg;glk; tiuf 
 
Food crops 
czTg;gaph;fs; 

Areas 
gug;gsT 

Rice / mhprp 8 

Wheat / NfhJik 8 

Barley / ghh;yp 4 

Jowar / Nrhsk; 2 

Bajra / fk;G 2 

Maize / kf;fhr;Nrhsk; 5 

Others / kw;wit 11 

 
11. Draw a histogram for the following data. 

nfhLf;fg;gl;l tptuq;fSf;F guty; nrt;tfg;glk; tiuf 
 

Daily wages / 
jpdf;$yp 

No. of Workers 
njhopyhsh;fspd; vz;zpf;if 

0 – 50 8 

50 – 100 16 

100 – 150 27 

150 – 200 19 

200 – 250 10 

250 - 300 6 

 
 
12. Draw a histogram for the following table which represents the marks of the students 

khzth;fspd; kjpg;ngz;fis Fwpf;Fk; gpd;tUk; ml;ltizf;F xU nrt;tfg;glj;ij tiuf 
 
Marks 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80 



 
kjpg;ngz;fs; 
Number of 
Students 
khzth;fspd; 
vz;zpf;if 

5 10 15 20 30 25 12 8 

 
13. Draw a frequency polygon for the following data. 

gpd;tUk; tptuq;fSf;F xU epfo;ntz; gyNfzk; tiuf 
 

Monthly Wages (in Rs) 
khj Cjpak; (&ghapy;) 

No. of family 
FLk;gq;fspd; vz;zpf;if 

0 – 1000 21 

1000 – 2000 35 

2000 – 3000 56 

3000 – 4000 74 

4000 – 5000 63 

5000 – 6000 40 

6000 – 7000 29 

7000 - 8000 14 

 
14. Draw a frequency polygon for the following data 

gpd;tUk; tptuq;fSf;F epfo;ntz; gyNfhzk; tiuf 
 

 
 

 
 
 
 
 

15. Draw frequency curve for the following frequency distribution 
gpd;tUk; epfo;ntz; gutYf;F epfo;ntz; tisNfhL tiuf 
 

Wages 
$yp 

No of workers 
njhopyhsh;fspd; vz;zpf;if 

0 – 50 4 

50 – 100 5 

100 – 150 9 

150 – 200 6 

200 – 250 11 

250 – 300 5 

300 – 350 7 

350 – 400 3 

 
16. Draw a frequency curve for the following distributions 

gpd;tUk; gutYf;F epfo;ntz; tisNfhL tiuf 
 

C.I 
gphpT 
,ilntsp 

0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 

Class 
external 
gphpT 
,ilntsp  

10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80 80 – 90 

Frequency 
miyntz; 

5 7 9 11 12 15 7 4 



 

Frequency 
miyntz; 

6 11 26 17 11 7 

 
 
17. Draw the ogives for the following data: 

gpd;tUk; tptuq;fSf;F Xift; tistiufs; tiuf 
 
 

Class Interval / gphpT 
,ilntsp 

Frequency / miyntz; 

20 – 30 4 

30 – 40 6 

40 – 50 13 

50 – 60 25 

60 – 70 32 

70 – 80 19 

80 – 90 8 

90 - 100 3 

  
 

Classification and tabulation 
tifg;gLj;Jjy; kw;Wk; ml;ltizg;gLj;Jjy; 

 
1. In a survey of 40 families in a village, the member of per family was recorded and the 

following data obtained. 
xU fpuhkj;jpy; cs;s 40 FLk;gq;fs; Ma;T nra;ag;gl;lJ. xt;nthU FLk;gj;jpYk; cs;s 
Foe;ijfspd; vz;zpf;if gjpT nra;ag;gl;L gpd;tUk; tptuq;fs; ngwg;gl;ld. 
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Represent the data in the form of a discrete frequency distribution. 
,t;tptuq;fis nfhz;L njhlh;r;rpaw;w miyntz; gutiy mikf;fTk;. 

 
 

2. The following data gives the number of children in 50 families construct a suitable frequency 
table 
50 FLk;gq;fspd; Foe;ijfs; tptuq;fs; nfhLf;fg;gl;Ls;sd. nfhLf;fg;gl;Ls;s tptuq;fis 
nfhz;L miyntz; gl;bay; jahhpf;fTk;. 
4 2 0 2 3 5 2 1 0 2 

 



 

3 5 1 1 4 6 1 3 4 2 
 

6 1 2 2 2 0 3 4 1 0 
 

2 4 3 0 1 2 6 1 0 1 
 

1 3 4 1 0 2 2 2 2 5 
 
 
 

3. The following are the weights in kg of 50 college students. Construct a frequency table: 
50 fy;Y}hp khzth;fspd; vil msT fpNyh fpuhkpy; nfhLf;fg;gl;Ls;sJ. nfhLf;fg;gl;Ls;s 
tptuq;fis nfhz;L miyntz; ml;ltiz jahhpf;fTk;. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

4. For the data given below, prepare a frequency table with class internal as 40 - 50, 50 – 60 and 
soon 
gpd;tUk; tptuq;fSf;F 40 – 50> 50 – 60 vd;w gphpT ,ilntspAld; miyntz; gl;bay; 
tiuf 
 
94 78 86 51 96 103 52 79 50 72 66 49 

  
77 90 84 76 42 64 69 70 68 69 104 80 

 
79 79 54 73 58 91 65 60 77 78 67 50 

 
84 76 110 53 74 41 60 42 82 41 61 75 

 
105 83 

 
 

5. Draw a blank table to present the following information regarding the college students 
according to: 
Faculty – Arts, Science and Commerce 
Sex – Boys and Girls 
Years – 1993 and 1994 
Age group – below 20 years and above 20 years. 
fhyp ml;ltiz tiue;J mjpy; fy;Y}hp khzth;fspd; fPo;f;fhZk; jfty;fspd; 
mbg;gilapy; fhz;gpf;f 

 
42 
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41 

 
37 

 
54 

 
44 

 
38 

 
45 

 
47 

 
50 

 
58 

 
49 

 
57 

 
42 

 
46 

 
37 

 
42 

 
39 

 
54 

 
39 

 
51 

 
58 

 
47 

 
51 

 
43 

 
48 

 
49 

 
48 

 
49 

 
41 

 
41 

 
40 

 
58 

 
49 

 
49 

 
59 

 
57 

 
52 

 
56 

 
38 

 
45 

 
52 

 
46 

 
40 

 
57 

 
41 

 
51 

 
41 



 
Jiw ty;Yeh;fs; - fiy> mwptpay; kw;Wk; tzpftpay; 
ghypdk; - khzth;fs; kw;Wk; khztpfs; 
Mz;Lfs; - 1993 kw;Wk; 1994 
taJ njhFjp – 20 tajpw;F Fiwthd kw;Wk; 20 tajpw;F mjpfkhd 

 
6. Present the following information in a suitable form supplying the figure not directly given. 

 
In 1975, out of a total of 4000 workers in a factory, 3,300 were members of a trade union. The 
number of women workers employed was 500 out of which 400 did not belong to any union. 
 
In 1974, the number of workers in the union was 3450 of which 3200 were men. The number 
of non – union workers was 760 of which 330 were women. 
 
Neubahf nfhLf;fg;glhj gpd;tUk; tptuq;fis nghUj;jkhd Kiwapy; mikj;J fhz;gpf;f 
 
1975y; njhopw;rhiyapy; ,Ue;j 4000 njhopyhsh;fspy; 3400 cWg;gpdh;fs; th;j;jf 
njhopw;rq;fj;jpdh;. 500 ngz; njhopyhsh;fspy; 400 ngz;fs; ve;j njhopw;rq;fj;ijAk; 
Nruhjth;fs;. 
 
1974y; njhopw;rhiyapy; ,Ue;j 3450 th;j;jf njhopw;rq;fj;jpdh;fspy; 3200 Ngh; Mz;fs;. 
njhopw;rq;fj;jpy; Nruhjth;fspd; vz;zpf;if 760 Ngh;> mjpy; 330 Ngh; ngz;fs;. 

 
7. In a sample study about coffee habit in two towns, the following information was received. 

 
Town A: 

 Females were 40%; Total coffee drinkers were 45% and male non – Coffee drinkers were 20% 
 

Town B: 
 Males were 55%; males non – coffee drinkers were 30% and female coffee drinkers were 15% 
 

Represent the above data in a tabular form 
 
$nwLg;Gf; fzpg;ig Ma;tpd; %yk; ,uz;L efuq;fspy; fh/gp Fbf;Fk; gof;fj;ijg; gw;wpa 
rpy jfty;fs; ngwg;gl;ld. 
 
efuk; A: 40% ngz;fs;; fh/gp Fbf;Fk; nkhj;j egh;fspd; vz;zpf;if 45% kw;Wk; fh/gp 
Fbf;Fk; gof;fkpy;yhj Mz;fs; 20% 
 
efuk; B: Mz;fs; 55% ; fh/gp Fbf;Fk; gof;fkpy;yhj Mz;fs; 30% kw;Wk; fh/gp Fbf;Fk; 
ngz;fs; 15%. 
 
NkNy nfhLf;fg;gl;l tptuq;fis ml;ltizg;gLj;Jf. 


